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O O (73. 15kPa) ] -157.401

0 0O (101.325kPa)d -153.40J

00O 0O 0 (-153.350 [0 101.325kPa) ] 2413kg/m3

0000 (00 O 101.325kPa) 1 3.74kg/m3

00O (000250 0 101.325kPa) ] 2.89

00O 0O (21.10 O 101.325kPa) ] 0.2878m3/kg

00000 (150 U 100kPa)d 688L/L

goobobD-63.8U

0O 0O 0O 0O O 5490kPa



00000000 908kg/mO

00 O (-157.200 O 73.1kPa)0 19.51kJ/kg

0 0 O (-153.350 0 101.325kPa) ] 107.81ki/kg

0 0 (250 O 101.325kPa) 0 Cp=251.04J/(kg?K)
Cv=150.62J/(kg?K)

0000 (00 0250 0 101.325kPa)0 Cp/Cv=1.667
0 0 O (112.05K)0 53.329kPa

(155.15K) 0 1013.250kPa

(206.65K) 0 5066.250kPa

00 (00 000 O 101.325kPa) 0] 0.02330mPa?S
(0 0 O -153.4(0 )0 0.431mPa’s

0000 (-1500 )0 16.3mN/m

0000 (00 O 101.325kPa)d 0.008834W/(m?K)
(0 0 O -153.40 O 0.08828W/(m?K)

000 (@ OD000 DO 101.325kPal] 5893?)[0 1.0R0427
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